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QUESTION 1

A network administrator plans to execute show commands as well as make conjuration changes. Which HP ProVision
privilege role must be assigned to an account for the administrator to do this? 

A. Operator 

B. Administrator 

C. Superuser 

D. Manager 

Correct Answer: D 

 

QUESTION 2

Which methods can a network administrator use to upgrade the operating system of an HP ProVision switch? (Select
two.) 

A. USB 

B. FTP 

C. SCP 

D. SFTP 

Correct Answer: AD 

 

QUESTION 3

Refer to the exhibit. 

This switch currently assigns all VLANs to Multiple Spanning Tree Protocol (MSTP) instance 0 or the Internal Spanning
Tree (IST). Which statement correctly describes interface 21? 

A. The interface is down at Layer 2; it is not available for sending or receiving any traffic. 

B. The interface is an edge port but has received Bridge Protocol Data Units (BPDUs), so it is disabled. 
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C. The interface does not forward or accept data traffic, but it is ready to start forwarding if interface 19 fails. 

D. The interface does not support spanning tree; it is possible that it will introduce a loop in the network. 

Correct Answer: C 

 

QUESTION 4

An endpoint device requests an address by using DHCP. What is the first message the client sends to initiate this
process? 

A. DHCPREQUEST 

B. DHCPQUERY 

C. DHCPDISCOVER 

D. DHCPOFFER 

Correct Answer: C 

 

QUESTION 5

Refer to the exhibit. 

The physical interfaces for Comware-1 and Comware-2 switches in the exhibit are configured in routed mode and
OSPF. Both switches have the three subnets in their routing tables. The administrator wants to use DHCP to assign
addressing information to the users. Based on the exhibit, where should the administrator configure DHCP relay? 

A. Comware-1. G1/0/2 

B. Comware-1, G1/0/1 

C. Comware-2. G1/0/2 

D. Comware-2, G1/0/1 

Correct Answer: B 
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